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1x5=S5

Answer any 5 questions from 1 to 6. Each carries 1 mark
1 QO6 AUOOWIBBABODB; R0 5 GaloBIEERUBLTOBMD0 MDBLHE.BIRIMIMoT BIBHE

1. As subscript for array, .............. is associated with structure.
(emo @Y HTVIV 614103 Vet M1l OalBIUNEOMM), MIISHB @BV 6)2IQIN3
............ » DI,
2, Con_slder the statements. GdH0WYHHUB al@ 1M 1H6) B>
int *p, a=>5;
p=&a;

cout<< *p + a;
Whalt is the output? ag)amoem) BVSa)S?

3. A blueprint for an object in OOP is called ..............
OOP- m)’ls)ej 830 Sni26H910 e 8s 630} a3l IMa1em ANS1HNmMO) ..............

4, Wthh facility of programming language used to define the node of a Linked List?
efgn) eﬂmﬂmm MWl MBU 2186908 9alBINHNM®D BN ToU) BIHQIOS

aRO qvaoea(acgmosmv
5. The port number of SSHis ................
SSH 5(3&0(35 MOUB ...

6. LIF(D is the nature of ............ data structure.
LIFO nf)(M@) ......... AOQO PRISMMES MDIDI6M).

Answer any 9 questions from 7 to 17. Each carry 2 marks 2x9=18

7 DYOV3 17fmamm)3@.6__a aREYDI121)0 9 GalIBLEBRUTHE DD MDILYDs.
saocsmomﬂmgo 2 MO@H) U0

7. VB scrnpt is less popular as a client-side script. Why?
GO a6V (B 1ad) ng)cm mMe1@d ANen) M@ 1ald @i 2m@ae;.
)T} 6)£-06NS?

8. Classify the following scripting languages into client side and sever side.
snM NI NU(B 1010 100) BIH B KM OEMA, HTVNUE 61OV af)M BB

@@ B0,
Javascript, PHP, ASP, VBscript

9. Write an algorithm to insert an elemerit into a STACK.
STACK-GEI6) 630} RO 1@ WIQ Gal@H0008 @REBENIG]M0 af) YD,

10. How does circular queue overcome the limitations of linear queue?
m)(amgeld 3] a)BBOMWIEM 21 IM@A@ HANM0 @121 568 DS ENMD?



I'T. What is the difference between compile time polymorphism and runtime
polymorphism?
B066)al@ )OS0 Balog1enIB3a0IMIN0 NENBENSO GaldS1ERIBANMINN MED eSS
QUIDIOMV0 af)Tm6NT?

12. What do you mean by overflow and underflow in data structure?

(WOQ0 MIISBERl B30NIBEARIM0 @REMRABEAIWI0 HIEI6NE MBS a6
@@L AL MND®Y?

13. Differentiate following C++ statements.
@I alOWIMM C++ GHIWYBHU MEDNLNBS (ULMIOMVO0 af)PYMHB
a) int *ptr = new int (5);

b) int *ptr = new int [5l

14. Explain the use of new and delete operators.
NEW 6304GNAMOS@0 (Well] B0gIcNRMOS®)o HalEWIN. ANRE1H:01£6) L.

15. Write any two advantages of character pointers.
3000 CaldWINMTNMBBIOS aBO®EsRN0 e UREMEBBUE af) LIS

16. List different forms Inheritance.
AUIDITR M@0 DWBENNISBIIMON Gal@IBUB ag) )b

I7. a)The type of tag that requires only a starting tag, but not an ending tag is called

6303 @O®OR SOU) MI(Mo BRUMDIDIBS, af)MIW @ROUMIMHM SOU @YW @ eJOETD)
Son Mo meeom ANEenym) ‘

b)Name two types tags in HTML.
HTML 501,08 ag)etremn@oeny oM 1121 LNM®@?

Answer any 9 questions from 18 to 28. Each carry 3 marks 3x9 =27

18 MIO@3 28 UOOQIBS a GO 1210 9 @al0BYEBBUHE) DD MDD,
630GIMM 1Mo 3 MIBLE N0

18. Define a structure Employee with following details (empcode, empname, basic, DA).
Write statements to read the above details.
@O N1UDBIUEIBRUE DaleWIUT)a] agoGyod (U(SEB MABU NG,

(empcode, empname, basic, DA).
MHHE1enss N1UoRweERL3 OIS H1algIn3 BOUUDI AW BB af) LI Hs.

19. Compare Array and Structure. |
@GN0 MI(SHHMN0 MIVMA L0 6)2IQ)bs.

20. Explain memory leak and any two reasons for memory leak.

60201 2leeo HnmO elleaMes aBODE:12R0 RONS HI0MEBRR)0 oﬂuae"loé,(o%e@goea.
21. Compare static web page and dynamic web page.
qoQ 18 eI BalR)o OIOWMOIR L eUEn] GalR)0 MIAMAY0 )Y,

22. Explain any three attributes of <BODY> tag,
<BODY> souTIMeN afiemeslane aymy @RS 16NINGIHH U ANUOR BB B,

23.To access a website the web browser of our system need IP address of the Website, for

finding the IP address the system follows some step by step procedure, write the
procedure to find the IP address. 1
630) OAUMNIOONVG BVOBMIM aIPIMNT Oruent Eruvm a3 eAmineIMON 1P AN

(MU0 @oNUWos@06M, 1P AflaldMme deemRommma Mo 8IS0 ARISMIBE MSalS (s
060308 almS@IAM, IP (/12106 BemmmMOMes MSalS(EHA6BRUB ag) LY.




24, Write the basic structure of HTML document.
HTML. 8o eamcaion @osimunom seism Af)PYD) .

25. Wrile algorithm to Delete an element from Queue.
SRV NS &0} ageieanic WG 61219008 @R@IENIR @0 )OI L.
26. List all operations that can performed on data structure.
WOQ0 MI(SHNN@D Msal1e1080908 &YWy a)QJ0 ((JUBOMEBREY0 LN0Y 6)12IQ)db

27. a)Linked lists are constructed using nodes. Each node consists of two parts.
What are they?

el eNqieud EMIUEU8 DalGW 2oen] M13a212{1@ 166N @). $96mI GMoe)o

@6NS ROUIEBBUE @RSERI @ HOIM). @O a@IENT? 1

b)Why linked list are called dynamic list?
eflaw eflpflom eawmoe e gy ag)¥ ANglaema af)ooyesiae?

28. What is meant by self-referential structure. Write an example.

OBl NaDNMBaU S@ NS B af)M@O B a6 @RBTUDIHOMD). 63Q)
©BIANOEMO ALY

Answer any 2 questions from 29 to 31. Each carry Smarks Sx2=10

29 MTB 31 UOOWIBS aBGOMB;1L1)0 2 BaldBLEBRUBHE QOO0 MMTWIH) Hs.
6306IMIMYo 5 @0BHE U l®o

29. a) List the different ways to implement CSS

2
CS8 MSa{12108n)M@ MBS AUS®IMY U B(3 af)PIONH>
b)Explain any three text formatting tags, 3
aflomeslelo a3 os& QY 3andB3@dGNo0s $20@0d ANE® @68

30. a) What is meant by PUSH and POP operations?
nDII6T 0 e, Gatdn (IUIBODMEBRUD?

p.
b)Explain the following basic concepts of OOPs,
OOP-HEOS OM IgJO@IM @RS ITLAIM @YW EBRUS AN @1 H6)bs.
1)Data Abstraction  ii)Data Encapsulation i1)Modularity 3

31. a) Identify the errors in the following structure definition and write reason.

2NUOS M@ 1@ BN MISHMNOLI MBS BORTD H:006Mo ) LT b
struct

{ int roll, age;
~ float fee=1000; 2
R
b) Read the C++ statements given below.
int ar[ ] = {34, 12, 25, 56, 38};
~int *p = ar;

1)What will be the content of p?
P @es content a)mo 1186307

ji)What is the output of the expression *p + (*ar + 2)?
*p + (*ar + 2) 805anS agomoeny?

iii)The statement art++; is invalid. Why?
- artt) @RVOWINIIEM). a)TmNE)B:06MTS?



